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VCE Math Methods Units 3 & 4  2004 

Trial Examination 1 Solutions 

( Copyright 2004 mathlinE.    Free download from www.thereisnosquare.com/mathline/
Do not photocopy.
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(1) The cubic function has a stationary inflection point 
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 and it is a one-to-one function, it intersects the x-axis once.      D.

(2) The x-intercepts are at 
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(4) The function is the reflection of 
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(5) The graph of the inverse is the reflection of the function in the line 
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 the inverse is the function itself.          A.

(6) From x = 9.5 to 9.9, the y-values increase rapidly. This indicates asymptotic behaviour. The one that shows this behaviour is C.

(7) Rewrite the equation in the form 
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(8) The solutions of 
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(12) Use graphics calculator, enter 
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Using left rectangles, 
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Exact area 
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(17) B, C, D and E are many-to-one functions and 
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 their inverses are not functions.       A.
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(19) The shaded region consists of the area under the curve 
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(21) Only two dice are rolled, the possible number of odd numbers is 0, 1 or 2. 
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(22) The 95% interval is 
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. Since the values of X are whole numbers, the next whole number greater than 82.35 is 83 and the whole number just less than 107.65 is 107.            B.

(23) The experiment has a binomial distribution for the random variable-number of tails. The mean is 
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(24) Since the mean 
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 increases as n increases, and the graph also tends towards bell-shape.     E.

(25) A random variable in sampling without replacement from a small population has a hypergeometric distribution. A is definitely binomial, C and D can be considered as binomial, E has a normal distribution.        B.
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Part II

(1) a. 
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Graphics calculator:
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Please inform mathlinE (mathline@thereisnosquare.com) re typing or mathematical errors.
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